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=AVBOEKEZESANICEAKARY) = F LU EEOMBE~MREXZ1To 7,

EREFEHEE I, BRI E CEAMIRICB T At A NEORKE &
B0 BANVEEGRERCHAHRY) = F LU E~RBEZL 2T 72,

KB R TN L F R TIE. WHERKEICR T 2% KM EMR LFE 2 FEE L 72ix
Py PER O E A R TS T, R K RIS 31T D BRBR O T R A R R G
FiEEAT o T2,

FROBRRUBFEUAOFEH L LT, KEBREHBEICESWTAKEAERE K
OKE ﬁ@&iﬁa%(W%PmAah)@#ﬁ%m%E’* L. &2 KEK
rffa Lic, £, WMAKEZEOL L TAHNEON EZMD 72D DORFKFAAEIZDWT
XL MO Mg o> T AT M, OROE M, AR Mt L 7 7 MR R OVE i MU d5 ) T FE B

L. AKDOREHER, BRHEREICED T,

KB R O AR E BB LTl KPR, dWokS. BAKM, BWIER TG0 LA
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7o WIZEFICRAETDHREAKEDRAKESSLCKEKOEY ZE0EFICHLTH
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it 5% 1%
AR T
(1)  HHBIfEd K= (AL :m)
i AR N Jig [if] B 74 5 P=Piin A7t
4 H 818,022 321,476 141,984 180, 396 83,052 205,957 1,750, 887

5

H 844, 552 336, 054 140, 831 184, 501 89, 891 211,179 1,807,008

6 H 845, 031 332, 298 139, 856 182, 260 90,076 210,026 1, 799, 547
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7H 875,564 347,340, 143,619 185,107 88,838/ 216, 152| 1,856, 620
8 H 873,764 373,845 135,254/ 187,935 83, 444| 211, 858| 1,866, 100
9 H 818,895 367,313 128,272 182,791 80, 435 205, 453| 1,783, 159
10 A 877,929 378,946 134,612 188,917 80,516/ 217,260[ 1,878,180
11 A 825,505/ 368,692 131,520, 188,720 83,562| 207, 434| 1,805,433
12 A 843,511| 388,880 140,784/ 200,609 92,094 215, 231| 1,881,109
1 A 856,272| 388,616 142,029 197,061 80,885 216, 956| 1,881,819
2 H 787,145 354,149  128,413| 184,248 57,818 199,147 1,710,920
3 H 859,297| 377,288 141,800, 200, 247 65,098 216, 450( 1,860, 180
F+(10, 125, 487| 4, 334,897| 1,648,974| 2,262,792 975,709 2,533,103|21, 880, 962
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X 5y B A TH H e A & P P
KERETH (51 ) ﬁmf;;'zls:@:fﬁ . MEHHBIZKLY FA
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KB A (39 T H) A 6 i F 1
JE Ak KR 32 AT
7 U T RNARY U ARER KU 51 & pir i A AR 4 8]
EEZIRETEEE
1 LHEHEAR%
(1) ERGRELHFEEFR (CEFAFEL300 /THZHE25H D) (HAL 0 1)
T + % T F N % T F %
Bl K % 4 3% T HPPE ¢ 150 L= 15.4m
HiE 33031 = 4R 4k Bic K %& 4 7% T. HPPE ¢ 100 L=760.4m
[ N T = =2 Bic K %& 4 7% T. HPPE ¢ 50  L=802.9m 62,557, 000
(ERRA WT R ) | W ks @ T M FNHE O 3 %
KB B LT PP ¢ 50~20 86 f&
S 14177 B A @bk%ﬁ‘ﬁ%l HPPE ¢ 100 L=680.3m
. Bk & A 5% T HPPE ¢ 75 L=231.7m
[ N i = =2 ) 36,014, 000
; MekkeRET #FAED 3 %
(i) KB B LT PP ¢ 50~20 17 &7
Bt /K & AR 5% 1. DIP (GX) ¢ 200
iiE 2136 5 5k L=266.8m
[ N T = =2 Bic K %& 4 7% T.HPPE ¢ 100 L= 26.9m 32,263, 000
(BRI MT & &) | H A e E T M FXNE D 13
KB B L PP ¢ 30~20 8 fHAT
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Bl K & A 3% 1. DIP (GX) ¢ 200

L=189.5m
iiE 1068 B 4k
= 7 Bo K 4 4 2% T. HPPE ¢ 150 L=354.3m
FKEMBRELE B 51,920, 000
(5 0T ) Bl 7K % # 7% T HPPE ¢ 100 L=135.1m
&
WoktesE T RO 2
WEAKEELH UL PP ¢ 256~20 21 & AT
B2 /K % 4 3% T. HPPE ¢ 100 L=572.0m
H 11143 B Bl K B Aigk T HPPE¢ 756 L= 10.0m
Y]
= 3 Bl K% A 3% . HPPE ¢ 50 L= 25.0m
A 7K 8 A R L . 52, 712, 000
I T4 WoktesE T XD 3 X
" HEVE SR 3B T PP ¢ 25 9 5 7T
WA I LT PP 6 50~20 105 {4 P
A 11156 56 B K %% 45 3% 1. HPPE ¢ 100 L= 7.3m
7]
*J‘%%/\f}’@:’“ﬁﬁﬂ e s Bk & 4 #% T HPPE ¢ 75  L=149.0m
AR &= X T Z )
= ) e Bl K& A 2% T HPPE ¢ 50 L= 50.6m 14, 520, 000
B K B AR B T ] ) L
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' FKEHLH LI PP ¢ 20 S AT
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0] B H
= Bk A% T HPPE6¢ 50 L= 8.2m
[N S B 2 . . 23, 067, 000
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WAKEIUH LT PP 50~20 18 57T
22985 AL Fid /K % #fi 5 1. HPPE ¢ 100 L= 12.0m
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At K 8 An R L . 24,112, 000
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WAKEIUH LT PP 50~20 14 57T
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Bl K % A5 3% T. HPPE ¢ 100 L=407.6m
AT R E B S R R AR B
_ PEVR Fp % & T SGP-VD ¢ 50 2 14 fr
Bk & A a B T j 23, 551, 000
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(e 0T 5 [ 40 WA ET HFXED 2
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= - Bk & A T HPPE6 75 L= 4.7m
FKEMBRELE 20, 944, 000
S HktesxmET #TFXNEND 1 %
Y=l
’ K& EH LT PP 50~20 31 f&AT
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1E F7
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Bo K& A 2% T HPPE ¢ 75 L=230.0m
Bo K 4% Fi 2% T. HPPE 6 50 L= 65.2
i 12081 B A i "
& Y2 VK2R T HPPE ¢ 75 L= 10.0m
[ = TS = S =2 N ¥ 23, 353, 000
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iiE 13123 B #p 4k Flk % Fis% T HPPE¢ 75 L= 3.6m
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(WAENT) | A KERE LT PP 20 78T
TiiE 14266 5846 3
e Bl K& i #% T HPPE ¢ 75 L=214.0m
B 7K & A7 i L3 . B 9, 559, 000
WAKEEH LT PPé30~20 4 &P
UNEF O ET4%)
B
T aRAT 7 ANYFEAE As ©WENHE (40)
A=1,276 m
M 1017 5 e
MR IR T TaRXT AN BFAMBE As 19, 206, 000
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Ed=]
TaRT T ANYFAERE As
(20)-50 A=1,281m
il 1052 & B 7k % 4 7% T HPPE ¢ 150 L=119.9m
EKERMBEERELE (D 2) BlKEMAR LT (L) 10, 384, 000
(A fHIT 3 B HPPE ¢ 150 L= 8.5m
il 14342 28 4+
Bl K4 A 5% T. HPPE$ 50 L=153.1m
B 7K & A1 3% T3 B 8,052, 000
e KB B L PP ¢ 40~20 11 f& AT
(BHEET 2 T H)

HiE 1052 B4k B 7k % 47 7% T HPPE ¢ 100 L=293.5m
FKEMBRELE HWhkBEEET HTRERD 2 5 20, 339, 000
CEJTETH B | KRS EH LT PP 40~20 17 f&ArF

Bl K % A5 3% T. HPPE ¢ 150 L=165.1m
THiE 1033 B4 Bl /K &A% T. HPPE ¢ 100 L= 14.3m
A3 18 22 A T i AR T PE D Bk A% T HPPE6 50 L= 6.3m 5 015, 000
B K & A R R T WkfeskE L #TFXREQ 2 3 ’ ’
(REET) | #aAKEAAEZ T HPPE¢ 75 L= 13.8m
K& EUH LT PP ¢ 50~20 7 &
. Bl Kk % 45 5% T HPPE ¢ 150 L=120.5m
R 32272 B B 7K & A 3% T HPPE ¢ 100 L=120.3
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WKE B LT PP ¢ 30~20 25 AT

Bl /K & 4 3% T. HPPE ¢ 100 L=122.0m

il 2147 5 #4k Bl K & Afi 5% T. DIP (K) ¢ 100
[ =TI = S L= 5.2m 12,210, 000
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61006 5841 Eﬂ7ki%ﬁ:’“1 HPiE¢50 L= 6.1m
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Wi AR A > 5 — V4 pE 3 M i 3 B

Bl K % A 7% T DIP(GX) ¢ 150

TS
PR L= 2.7m 3,575, 000
B AR X I, _
(K 11T Bl 7K % #f 7% T HPPE ¢ 150 L= 24.8m
Bl K & A1 5% T DIP(GX) ¢ 150
L= 18.8m
Bl oK & A% T DIP(GX) ¢ 75
IFL A% 11 B K B 8 P e Tom
IR A K ZHE9
N Bt 7K & A1 5% L DIP(K) ¢ 100
Bo K& P)El L T% 9, 493, 000
(45 0T L= 5.0m
M
T R ek AT R T PP 6 50
L= 62.8m
FAKEBH LT PP¢ 20 5 AT
BERRgEERE M E T 1=
V6 5 W7 A S0 N
WKERZHLE KB A% T PP ¢ 50 L=158.0m 4,818, 000
(V6 5 W7 ASHE)
WK Z I KEMBE T F . B
WKEBRH LT PP 50~13 18 T 4,708, 000
(& RET 1T A
KOEHT 4= 0 N
TP D T EF AW AKE% E T DIP ¢ 100 4 & pir 4,477,000
(KW 4 0)
T 5 5E A A LR A
WMAKEMBETE WKEBRH LT PP 50~20 6 T 4,785, 000
(R FEHT 76 K %)
JER [if] 35+ 7K 5 Y 1=
No. 4 AW iE MR A B 1% A RLR TS P R 12 o
N 30, 877, 000
B T X EWA 0.8 m
(B BT R M) | BERX A M L RE SR 4b
AR H T 1=
AR ER T 2 oK ERINL HLEE A M
No. 1 2 A i\ F% A b 5 5 1.5 f& & H1600 7, 238L 22,935, 000
(EJrTEF) | ZFERA & H500 2,261L
AN A SR TR R 4
BBk 5% fi T 1=
WAk =v b 1 %0
INFFOBEER S %
. . N ES X0 1
Ny 7a=y FEHFLE ) ) 47,575, 000
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1% B % i T 1
2 )11 kY B A b k==t L
RNy Za=y FEHLE E?M{\/ﬁ L 47,190, 000
AR A L 1
(45 )11 38 Y BT ) . \ .
PeiA XK AT G 1 48
o R% 2B K T B G 148
(2) I AKE B 5K (BT @ )
i K & koK = at
TS 6 462 468
NI 3 131 134
i [ 7 76 83
#H 11 136 147
[ 7 87 94
7= 9 124 133
A &k 43 1,016 1,059
IR AKEH T HF (RKE) (T KRS ST,
6 K AR
1 RaAKRIEE THFAE (R (BAL @ )
oo L & i W = -
TS 196 340 - 44 580
NI 64 158 - 29 251
i 41 55 - 11 107
i A 33 76 - 11 120
[ 15 17 - 5 37
7= 35 50 - 8 93
Gl 384 696 - 108 1,188
2 INE Gy TS £ T AR (BT @ )
[ | o FE Sk Z Dl S
PN 13 117 15 - 145
KX 3 48 11 - 62
M 5 34 0 - 39
e O 3 20 1 - 24
[ 1 14 1 - 16
e 3 31 2 - 36
S 28 264 30 - 322
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